B.Ed 1* Year (2015-2016)

Subject : Mathematics (Set-V) Full Marks : 80
Paper : CEC Time : 03 hours
Driections :-
i. Candidates are required to give your answer in own words and sentences.
il. All questions contain equal marks. Answer any five out of ten questions.
fader —
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[4+4+8]
1.
(a) Define natural number and whole number with suitable examples.
Also define prime number and find the average of first five prime numbers.
grepd et vd ol weear a1 Sfd Sarerr wfed aRurfid a |
ST |1 Bl gR9TYT forRd Td gor dfa JTog |vrsii & siia fHrared |
(b) Represent V2 and v/5 on real number line.
V2 Td /5 Pl aRdfdd er a1 R gelRid o |
. . . 6
(c) Rationalise the denominator of NG
6 .
=7 B B BT IRATGIOT PN |
[4+8+4]
2.
(a) If P(x) = x° — 4x2 + 7, Then find the value of
(i) P(0) PG Gi)P(-3) (V) P(=6)
I P(x) = x° —4x% 47, a9
(i) P(O) PG  (Gi)P(—3) (V) P(—6)
BT A ATl |
(b) Factorize (UGS HIFST) :
() x? —x (i) x®2+9x + 18
(iii) 222 — zx + 1—12 (iv) 9x3 — 22x + 8
(c) Divide (64 19x + x? — 6x3) by (2 + 5x — 3x2)
(6 +19x + x2 — 6x3) BT (2 + 5x — 3x%) A 9RT IR |
[8+8]
3.

(a) Solve for x and y
(xTd y &1 74 Pl
(1) 2x+y=7
4x + 3y =-1
(i)  a’x —b%y = a® + ab?
ax —bx = 2ab
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Solve for x and y

(xTd y & oy 81 o)
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=—2 (where ‘S8l x # 0,y #0)
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[8+8]

Find the discriminant of the equation 2x? — 6x + 3 = 0 and hence find the
nature of its roots.
Find them, if they are real.

FHIART 2x2 — 6x + 3 =0 &1 RAdamdR a1d BINY iR R ol & gapf
d Py | afe 9 IRafds €, aF S S iy |

The altitude of a right triangle is 7 cm. less than its base. If the hypotenuse is
13 cm. Find the other two sides.

TEH FHABIVT Bl @ SaTS THB IR ¥ 7 AHL HH g Al Pl 13 |
T8I, AT 3 T Yollg 1 BT |

[4+4+8]

Prove that (ﬁ ﬁﬁ ﬁ*?) cotA—cosA _ cosecA-1 then

cotA+cosA  cosec A+l

Prove that (g @IfoTg & )
1+sinA A+ tan A
1—sinA_Sec an

The angels of depression of the top and bottom of an 8 m. tall building from the
top of a multi-storyed building are 30° and 45°, repectively. Find the height of
the multi-storyed building and the distance between the two buildings.

T ggHTA Wad & R ¥ <@ R U 8 Al Hd Haq d REaR SR dd
@ SATHA—DIUT P 30° 3MR 45° T | IgANIS HaT B SHaAlg 3R QM
qa=i & 9 B A ST PR |

[6+6+4]

The sides of a triangular plot are in the ratio of 4 : 5 : 7 and its perimeter is
320 m. Find its area.

TEh STHR & (plot) 1 SISl &1 UG 4 : 5 : 7 ¥ | Ud S9! gR#A™
320 HI. BI, A1 SHHBT &ABel Sd DI |

A cylindrical pillar is 50 cm. in diameter and 3.5 m. in height. Find the cost of
painting the curve surface of the pillar at the rate of Rs. 12.50 per m’,

forsfl ISR W BT AT 50 FH). 8 3R a8 35 JH. B 1250 99T m’
PR A T W D ah I W U BRI I FI AT DI |
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Find the surface area of a sphere of Radius 7 cm.

7 QAL 1 arel el BT g &% S DI |
[8+8]

A milkman sold two of his buffaloes for Rs. 20,000 each. On one he made a
gain of 5% and on the other a loss of 10%. Find his overall gain or loss.

U gualel o S7UH & Wl Bl 20,000 . U WH B R F dAT| Th WE W
I 5% ™ AT 3R TAA R Y 10% B g8 | 59 AIQ H S KA ™
31eraT BT A1 BT |

Find the amount and the compound interest on Rs. 10,000 for 1 %years at 10%

per annum. Compounded half yearly. Would this interest be more than the
interest he would get if it was compounded annually?

10000 & R 1 T & forg 10% affe = ¥ wwafs @ R g Al
ST HINTY e &arel sefdie | M1 € | T I8 1ol 99 &rl 3
S BT S S d1f¥es ®U A FAINT PR TR U 81T 2

[4+8+4]

If (TfS)

(@)

(b)

(c)

u=1{1,2,3,4,5,6,7,8,9}

A={24,6,8)}

B={23,5, 7}

Then find.

(@ 91 A9 =1a AR )

() (AUB)=A'nB' (i))(AnB)'=A'UB

Expand from binomial theorem. (feue v & KINASIN R &Y )
(i) (Bx+2y)* (i) (2x — 3y)*
(iii) (x + 5)5 (iv) 1 + 2x — 3x2)5

Using the binomial theorem, find the value of —

(feue w1 &1 v &_d gy freIfaRad &1 9149 =1 @ 1)

() (104)° (ii) (98)*

[16]

Calculate the Mean, Median and Mode.
(Wed, WS Ud dgId ST N |)

C.L 0-10 10-20 | 20-30 | 30-40 | 40-50
F 12 16 6 7 9
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[5+5+6]

In what ratio does the point (-4, 6) divide the line segment joining the points
A (-6, 10) and B (3, -8)?

fIg (-4, 6), fag3M A (-6, 10) 3R B (3, -8) &I SiIe dTel WAMES Bl fhsd
arguTd # faifora wear § ?

Find the 11" term of the last term (towards the first term) of the
AP:10,7,4, ..o , -62.

AP : 10,7, 4, .l , -62 T 3 Ug | (F2H T 3IR) 11df U F1d
HIFTY |

A bag contains a red ball, a blue ball and a yellow ball, all the balls being of the
same size. Kritika takes out a ball from the bag without looking into it. What is
the probability that she takes out the

(i) yellow ball ? (ii) red ball ? (iii) blue ball ?

TP 9] H TP ol g, U el g IR T el Tig & dom |4 e U &
At o B | Hfaw O dof & SR i, 39H A UH A M@ | s
7 Widar ® fe a8 i

(i) drelt 8rfY ? (ii) <IreT BRI ? (iii) *refl BRI ?

-- The End --



